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Lecture 2

Absolute Value 4iladl) el
/x2+y2 Gl el 3dad)l sl Ll 7z = x4 iy S el el dalladl) dal) (o s

|z] = x2+y2 Il z] el e

B Zy =Xy + 1Yy, Z3 = X1 + iy OmSal) Gaaaall a aal)

d =+/(x; — %)% + (¥, — ¥2)?

o) Badu
2] = /x? +y2
= |z|? = x? + y?
= |z|? = (Rez)? + (Imz)?
A

Rez < |Rez| < |7]

Imz < |[Imz| < |z]

Properties of Absolute Value

1. |z125| = |z1]]2,|
A1 |z |

2. |—| =—
Zp |z, |

3. |z1+2z;| < |zq] + | 25]
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5. |lz1l = |Zz|| < |zitz;| < || + |2,

Complex Number Conjugate S all sl (38 5

O Z a0l 3o x — iy S el aaall il Gijm 7 = x0 + iy S all 20l Gl
Z=x—1y
Q\ LAl

z] = Vx? +y? = |Z]

|z| = |z

Properties of Complex Number Conjugate

1. z=2z

2. |z|? = zz

3. Zl+ZZ = _1 + _2

4. 71—z, =721 — 7

5. 71Z; = 712,
Z Zq

6. (_) -, Zy E= 0
Z2 Z2

8. Z = —z ifand only if z is pure imaginary

9. z+z=2Re(2)



10. z — 7z = 2ilm(z)
Solution
3. z1+2zy = (x +x3) +i(y1 + y2)
z1+2z; = (X + x2) —i(y1 + y2)
= (xq —iy1) + (x3 — iy,)

=Z_1+Z_2

9. z+z=((x+iy)+ (x—1iy)
=x+iy+x—1iy
= 2x = 2Re(2)

10, z—zZ=(+1iy)—(x—1iy)
=x+iy—x+1iy
= 2iy = 2ilm(z)
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Example:
JSall 8 LS P(—3,2) ddatill Jiay —3 + 27 2l 2]l

y p(x,y)
p(—3,2) — 2 /
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x2 + 9% =712 ) ) e s 2o 7 S |z] = 7 Udbeal) @EaS Ly ol

Zo = xo + iy Abill W S 5e 5 iy Jama e Al g Jals Qi Sl saaall dlasY) -
O $) |z = z| = r il Baad 1 50 s 220 L Hlal Caiai
|z —zy| =71
= |(x +iy) = (xo + i) =7
= |(x—x0) +i(y_y0)| = r
= (x —x)* + (y—yo)2 = r?
r ki caaiy (g, Vo) WIS e 3 Aalaa
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EX: |z—14i| =1 bleal/ b a5 Lsria sl

(x+iy) —1+il =1
=|x-1D+ily+1)|=1
= x-1)%*+@+1?*=1

r=1 i Caaig o1, —1) Al s JS je ) 550l Jasma e 2l )1 Jaliil) i

HW. 1ol Lo Lo 5 Ly yan S
L |zl =2
2. lz+1+i| <2



3. 25|z <3

4. |z +2i| =1

5. Re(z+2)=-1
6. |z—5=6

7. Im(z+2)=3

Z.QJSSA O:Uw
1- 212y = 25210 ) @onal dlaad 4y JIa¥) () 5 02

z1 = (X1, V1), Zo = (x3,¥,) o= &l

2- O (A »
(Zl + Zz) + Z3 = Z1 + (ZZ + Z3)

z1 = (X1, Y1), 2o = (X9,¥2) ,23 = (X3,y3) o= n &l

3-z2+z+1 =0k ds
0=1(0,0), 1=(1,0), z = (x,y) L
4- bl el
5i -1
a

A-02-DB-1) 2

b. 1—-D*=—4

c. Z+31=z—3i



d.1z=-1izZ

2+02
3—4i

f. |2z +5)(V2 —i)| = V3|22 + 5|

5- sUanall L 5 5l Zismall Ll de gana pu ) Alla JS 3

a. lz—1+1i] =1
b. |lz+1i| <3

c. Re(Z—i)=2
d. |lz—1]| = |z +i|

e. |2z+i| =4
6- Prove that z isreal ifandonly if Z =z

Z+Zz zZ—7Z
2 YT T
z? + (2)? = 2 J&alL s

7. x% —y? =1 330 adadll gl il x =
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8- (b le Lyyua g Luwaia 8L

|z + 4i] = 10



